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(1)
n<mDLx P.(X)%P,(X) THISZZRVIZP,(X) T, n=m-1
n=m»&E P (x)%& P, (x) TSR VIT0=Py(x)

n>moEx (x-)DP,(x)=x" -1, (x-)YP,(x)=x" -1

n2”AmOEHEOEE n=mk k=1 LB &

X" —1=(x™* 1= (x" =D (X" D 4o x4+ 2) = (x" —D)B (x™)
Wiz x-1THDE - P,(X)=P,(X)-P,(x") —D
ZDLE, P, (X)&EP,(X) TEIS7AHRDIZ0=Py(X) .

NnAmMOBEHTIEARNEE n=mk+] K=L1=I1=m-1) LB &
X" —1=(x™)* x| 1= {(x™)F —142f x! —1={(x" )P (x") + 1) X' -1
=x'(x™ =P, (x™) + (x' 1)
W%z x-1TEDE  PX)=x"-P.(X)-P.(x™)+P(x)
ZDEE, P(XN)EP,(X) TESZRVITR(X).

Pbicky, R RSN, GERRK)

(2)

100=25x4 CTHH0 5, DED  Poo(X) =P, (%) Pos(x*)
4=2x2%0 P4(X)=P2(X)'P2(X2) PlOO(X):PZ(X)~PZ(XZ)-P25(X4)
P(x*)=1X0 P, (x)=P,(x)-P(x*) £EIFDDT .~ Pg(X) =Py (x) - PL(x?) - Pys(x*)

P1(X4) =180 Pyo(X)=Pigo(X)- Pl(X4) EET D,
100=50x2 &0 Pyo(X)=P,(X)- P50(X2) S Prog(X) =Py (x) - Pso(xz) : Pl(X4)

PL(x*)=LP(x*)=1LY . Pgo(x) =Pioo(¥) - P.(x*) - P(x*)

PlEizX vy, (1, mn)=(2 2 25),(4125),(2,50,1),(100,1,1) - (%)



